Table 1 Characteristics of included databases
	
Study
	Study type
	Setting and duration
	Focus
	Study population
	Time window


	GCS
	Outcomes

	
	
	
	
	Patients (N)
	Age (years)
	Clinical severity
	TBI definition based on:
	
	
	

	TARN
	Registry
	1989- ongoing 

England and Wales
	Trauma


	50064 
	All
	Presence of at least one:
· LOS > 3 days

· Admitted to intensive care

· Inter-hospital transfer for specialist care

· Dying after admission
	Any AIS head code
	All
	At scene, 

ED admission
	Mortality and GOS at discharge



	VSTR
	Registry
	2001 –ongoing 

Victoria, Australia
	Major trauma 


	14062
	All

 
	Presence of at least one:
· Death after injury

· Admission to ICU > 24h requiring mechanical ventilation

· ISS>15

· Urgent surgery * 

· Serious injury to > 2 body systems
	Any AIS head code except minor superficial injuries
	All
	Pre-hospital, ED admission, Discharge
	Mortality at discharge,

GOSE, SF12, EQ-5D at 6, 12 and 24  months

	CRASH
	RCT
	1999-2005, 
Multi-nation
	TBI


	9941 
	> 16 
	GCS  < 14


	GCS
	< 8 hours of injury


	Admission
	Death or disability at 2 weeks,
Death or disability, 

GOS at 6 months


RCT: randomized clinical trial, Obs: observational, LOS: length of stay, TBI: Traumatic Brain Injury, GCS: Glasgow Coma Scale 
* for intracranial, intrathoracic or intra-abdominal injury, or fixation of pelvic or spinal fractures

Table 2 Discharge mortality for patients with different GCS-component-combinations adding up to similar sum scores. Groups with at least 5 expected deaths are shown. 
	GCS score
	E
	M
	V
	Patients
	Deaths (N)
	Fatality rate
	Chi² + p-value

	
	
	
	
	N
	%
	
	
	

	3
	1
	1
	1
	6847
	   100%
	3471
	0.51
	

	4
	1
	2
	1
	1060
	73%
	635
	0.6
	X-squared = 28.2349, df = 2,
p-value = 7.394e-07

	
	1
	1
	2
	326
	22%
	153
	0.47
	

	
	2
	1
	1
	71
	5%
	26
	0.37
	

	5
	1
	3
	1
	969
	69%
	460
	0.47
	X-squared = 17.1536, df = 5,
p-value = 0.004218


	
	1
	2
	2
	233
	17%
	119
	0.51
	

	
	3
	1
	1
	73
	5%
	22
	0.3
	

	
	2
	2
	1
	63
	4%
	31
	0.49
	

	
	2
	1
	2
	41
	3%
	12
	0.29
	

	
	1
	1
	3
	32
	2%
	11
	0.34
	

	6
	1
	4
	1
	1042
	58%
	367
	0.35
	X-squared = 6.5057, df = 7,

p-value = 0.4821

	
	1
	3
	2
	381
	21%
	138
	0.36
	

	
	2
	3
	1
	110
	6%
	50
	0.45
	

	
	4
	1
	1
	107
	6%
	41
	0.38
	

	
	2
	2
	2
	87
	5%
	30
	0.34
	

	
	1
	1
	4
	40
	2%
	11
	0.28
	

	
	1
	2
	3
	24
	1%
	10
	0.42
	

	
	3
	1
	2
	15
	1%
	5
	0.33
	

	7
	1
	5
	1
	1339
	57%
	317
	0.24
	X-squared = 15.8308, df = 9,

p-value = 0.0705

	
	1
	4
	2
	517
	22%
	148
	0.29
	

	
	2
	4
	1
	177
	8%
	53
	0.3
	

	
	2
	3
	2
	134
	6%
	37
	0.28
	

	
	1
	3
	3
	31
	1%
	7
	0.23
	

	
	3
	3
	1
	30
	1%
	14
	0.47
	

	
	4
	2
	1
	28
	1%
	10
	0.36
	

	
	1
	1
	5
	24
	1%
	7
	0.29
	

	
	4
	1
	2
	24
	1%
	7
	0.29
	

	
	1
	2
	4
	20
	1%
	6
	0.3
	

	8
	1
	5
	2
	927
	46%
	191
	0.21
	X-squared = 29.5354, df = 9,

p-value = 0.0005261

	
	2
	5
	1
	377
	19%
	79
	0.21
	

	
	2
	4
	2
	310
	15%
	91
	0.29
	

	
	3
	4
	1
	79
	4%
	23
	0.29
	

	
	1
	6
	1
	68
	3%
	17
	0.25
	

	
	2
	3
	3
	62
	3%
	21
	0.34
	

	
	3
	3
	2
	55
	3%
	19
	0.35
	

	
	1
	4
	3
	51
	3%
	13
	0.25
	

	
	4
	3
	1
	44
	2%
	19
	0.43
	

	
	1
	2
	5
	26
	1%
	7
	0.27
	

	9
	2
	5
	2
	683
	40%
	126
	0.18
	X-squared = 47.4438, df = 10,

p-value = 7.84e-07

	
	3
	5
	1
	241
	14%
	57
	0.24
	

	
	1
	5
	3
	191
	11%
	36
	0.19
	

	
	2
	4
	3
	149
	9%
	20
	0.13
	

	
	3
	4
	2
	125
	7%
	38
	0.3
	

	
	4
	4
	1
	90
	5%
	39
	0.43
	

	
	1
	6
	2
	77
	5%
	21
	0.27
	

	
	3
	3
	3
	47
	3%
	13
	0.28
	

	
	1
	4
	4
	32
	2%
	9
	0.28
	

	
	2
	6
	1
	31
	2%
	4
	0.13
	

	
	4
	3
	2
	30
	2%
	9
	0.3
	

	10
	2
	5
	3
	501
	24%
	73
	0.15
	X-squared = 84.8403, df = 11,

p-value = 1.697e-13

	
	3
	5
	2
	452
	22%
	99
	0.22
	

	
	4
	5
	1
	335
	16%
	119
	0.36
	

	
	3
	6
	1
	144
	7%
	36
	0.25
	

	
	3
	4
	3
	130
	6%
	28
	0.22
	

	
	4
	4
	2
	126
	6%
	53
	0.42
	

	
	1
	5
	4
	111
	5%
	22
	0.2
	

	
	2
	4
	4
	75
	4%
	15
	0.2
	

	
	2
	6
	2
	56
	3%
	10
	0.18
	

	
	1
	6
	3
	32
	2%
	6
	0.19
	

	
	3
	2
	5
	25
	1%
	1
	0.04
	

	
	3
	3
	4
	24
	1%
	3
	0.12
	

	11
	3
	5
	3
	622
	29%
	79
	0.13
	X-squared = 120.1546, df = 9,

p-value < 2.2e-16

	
	4
	5
	2
	417
	19%
	140
	0.34
	

	
	2
	5
	4
	325
	15%
	40
	0.12
	

	
	4
	6
	1
	223
	10%
	67
	0.3
	

	
	3
	6
	2
	217
	10%
	45
	0.21
	

	
	3
	4
	4
	117
	5%
	8
	0.07
	

	
	2
	6
	3
	76
	4%
	15
	0.2
	

	
	4
	4
	3
	70
	3%
	9
	0.13
	

	
	1
	6
	4
	69
	3%
	6
	0.09
	

	
	4
	3
	4
	29
	1%
	3
	0.1
	

	12
	3
	5
	4
	1250
	47%
	144
	0.12
	X-squared = 44.4457, df = 7,

p-value = 1.752e-07


	
	4
	5
	3
	424
	16%
	91
	0.21
	

	
	3
	6
	3
	385
	15%
	59
	0.15
	

	
	4
	6
	2
	211
	8%
	54
	0.26
	

	
	2
	6
	4
	164
	6%
	23
	0.14
	

	
	4
	4
	4
	138
	5%
	22
	0.16
	

	
	1
	6
	5
	36
	1%
	7
	0.19
	

	
	3
	4
	5
	33
	1%
	4
	0.12
	

	13
	3
	6
	4
	3456
	66%
	318
	0.09
	X-squared = 96.0442, df = 5,

p-value < 2.2e-16

	
	4
	5
	4
	990
	19%
	187
	0.19
	

	
	4
	6
	3
	505
	10%
	92
	0.18
	

	
	3
	5
	5
	175
	3%
	11
	0.06
	

	
	4
	4
	5
	72
	1%
	6
	0.08
	

	
	2
	6
	5
	55
	1%
	7
	0.13
	

	14
	4
	6
	4
	6961
	73%
	969
	0.14
	X-squared = 56.1931, df = 2,

p-value = 6.278e-13

	
	3
	6
	5
	2265
	24%
	183
	0.08
	

	
	4
	5
	5
	342
	4%
	54
	0.16
	

	15
	4
	5
	6
	14431
	100%
	1445
	0.1
	


